& doubtnut

India's Number 1 Education App

MATHS

BOOKS - KC SINHA MATHS (HINGLISH)

TRIGONOMETRIC EQUATIONS - FOR
BOARDS

Solved Examples

1. Find the principal soulution of the following

1
equation : sinf = — 3


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wQ7Ccjdaj5RF

° Watch Video Solution

2. Find the principal soulution of the following

equation : "secx=2

o Watch Video Solution

3. Find the principal soulution of the following

equation:cotz = — /3

° Watch Video Solution



https://dl.doubtnut.com/l/_wQ7Ccjdaj5RF
https://dl.doubtnut.com/l/_gVi2fHBadwgp
https://dl.doubtnut.com/l/_A1e6kbCCkPYg
https://dl.doubtnut.com/l/_mXKDHFgudeWv

4. Solve the following trigonometric equation :

coshl = 0

o Watch Video Solution

5. Solve the following trigonometric equation :

sin®360 = 0

° Watch Video Solution



https://dl.doubtnut.com/l/_mXKDHFgudeWv
https://dl.doubtnut.com/l/_zYyjbFSUovLE

6. Solve the following trigonometric equation :

tannx = 0

o Watch Video Solution

7.Solve the following trigonometric equation :

cot’ pz = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_Y65oNqzfJyKd
https://dl.doubtnut.com/l/_eIIBfTLphSWZ

8. Find the mos general values of 8 satisfying

the equation: sinf = — 1

o Watch Video Solution

9. Find the mos general values of 6 satisfying

1
the equation: cos§ = — 5

o Watch Video Solution



https://dl.doubtnut.com/l/_tRrKiKtRr9vG
https://dl.doubtnut.com/l/_ZD2nunqytekh

10. Find the mos general values of 8 satisfying

the equation : tanf = — /3

o Watch Video Solution

1. Solve the trigonometric equation

'26’—1
sin20 = 3

o Watch Video Solution



https://dl.doubtnut.com/l/_wRAr0fJ974K9
https://dl.doubtnut.com/l/_0UP2NREBa511

12. Solve the trigonometric equation

1

coshf = — 3

o Watch Video Solution

13. Solve the equation

cot x + tanx = 2cos ecz.

o Watch Video Solution

14.Solve 7cos2 0 + 3sin’ 6 = 4.



https://dl.doubtnut.com/l/_yajhYPL1DZKE
https://dl.doubtnut.com/l/_7jWMxEAXCIVk
https://dl.doubtnut.com/l/_W92OcS1IKsn8

o Watch Video Solution

15. Solve the equation secz = sec(z + )

o Watch Video Solution

16. Solve

tanz + tan2z + /3tanz tan2z = /3

o Watch Video Solution



https://dl.doubtnut.com/l/_W92OcS1IKsn8
https://dl.doubtnut.com/l/_C3G947oZNEP8
https://dl.doubtnut.com/l/_6ysoa5Nvu93R

17. Solve that following equations

2
tantheta+tan(9 -+ %) + tan (9 + %) =3

o Watch Video Solution

18. Solve sin bx = cos 2x.

o Watch Video Solution

19. Solve the equation

T
tan2x = — cot(:l: + E)



https://dl.doubtnut.com/l/_mwlLQNXoTE4V
https://dl.doubtnut.com/l/_Etks9ImRMKFM
https://dl.doubtnut.com/l/_rHLXQYdSNBIS

\ ° Watch Video Solution

20. If 3tan(theta-15"0)=tan(theta+15"0)0

° Watch Video Solution

21. Solve the equation : sin® § = sin’ «

° Watch Video Solution

22. Solve the equation : cos? § = cos® a



https://dl.doubtnut.com/l/_rHLXQYdSNBIS
https://dl.doubtnut.com/l/_LRMcZqiBjFv0
https://dl.doubtnut.com/l/_APrBJK9m39wC
https://dl.doubtnut.com/l/_2UGNkd4YgFDE

\ o Watch Video Solution

23. Solve the equation : tan® § = tan’ o

° Watch Video Solution

24. If tan(cotx) = cot(tanzx), prove that :

4
(2n 4+ V)=

sin 2x =

o Watch Video Solution



https://dl.doubtnut.com/l/_2UGNkd4YgFDE
https://dl.doubtnut.com/l/_GgktccsQl0DG
https://dl.doubtnut.com/l/_o3nblYkTmI1W

25. If (1+tanA)(1+ tanB) =2, find

values of A + B.

all

o Watch Video Solution

26. Solve the equation

3 1
sin(z — y) = % and cos(z + y) = 3

o Watch Video Solution



https://dl.doubtnut.com/l/_IOMNpchOeNUJ
https://dl.doubtnut.com/l/_DBlZC1WHOWHO

27. Solve the equation

sinxtanx — 1 = tanx — sinx.

o Watch Video Solution

28. Solve the equation 2tanf — cot +1 =0

o Watch Video Solution

29. Solve the equation sinmaz + sinnx = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_bITMsA8JUJqG
https://dl.doubtnut.com/l/_Xv8TIaW1mXa7
https://dl.doubtnut.com/l/_0Bm4CPTbVq2m

30. Solve the equation sin 90 = sin 6

o Watch Video Solution

31. Solve the equation sec? 2z = 1 — tan 2z.

o Watch Video Solution

32. Find the general solution for each of the

following equation:


https://dl.doubtnut.com/l/_0Bm4CPTbVq2m
https://dl.doubtnut.com/l/_udnOG7iBpeHY
https://dl.doubtnut.com/l/_tMHF8PVNrSHJ
https://dl.doubtnut.com/l/_JDLqGJ4bDgJR

sinxz + sin3xz + sinbx = 0

o Watch Video Solution

33. Solve the equation

4sinxcosx + 2sinx +2cosx +1 =0

° Watch Video Solution

34. Most general value of 0 satisfying equation

tan® 0 + sec20 = 1is

o Watch Video Solution



https://dl.doubtnut.com/l/_JDLqGJ4bDgJR
https://dl.doubtnut.com/l/_YETZ1onlpQ12
https://dl.doubtnut.com/l/_QKxWkEcMMHhf

35. Solve the equation tanz + secz = 2cos

o Watch Video Solution

36. Solve the equation

4cosx — 3secxr = tanx.

° Watch Video Solution



https://dl.doubtnut.com/l/_QKxWkEcMMHhf
https://dl.doubtnut.com/l/_wtaS2cW6dJRk
https://dl.doubtnut.com/l/_xP1ZDl3TM52B

37. Solve

2

2sin’x — 5sinxzcosxz — 8cos’x = — 2

o Watch Video Solution

1
38. Solve cos 6 cos 26 cos 360 = 1

o Watch Video Solution

39. Solve 4 sin x sin 2x sin4x = sin 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_A46ZHe1xKgds
https://dl.doubtnut.com/l/_edsx2EIcRXaF
https://dl.doubtnut.com/l/_lyypvrtgvSie

40. Solve the equation

(1 —tanf)(1 + sin20) = 1 + tané

o Watch Video Solution

41.Solve sinz + (/3cosx = /2

o Watch Video Solution



https://dl.doubtnut.com/l/_lyypvrtgvSie
https://dl.doubtnut.com/l/_niAM4VO735ja
https://dl.doubtnut.com/l/_zhLZAlcSlBVh

42, Solve the equaiton

2sinz + /3sinz = 0

° Watch Video Solution

1. Find the pricnipal solution of the

1
trigonometric equation: sinx = 3

° Watch Video Solution



https://dl.doubtnut.com/l/_1AgWPIai7vZ5
https://dl.doubtnut.com/l/_FjcOeN0ROcaz
https://dl.doubtnut.com/l/_gE5WnJmbQIQ2

2. Find the pricnipal solution of the

trigonometric equation: tanz = —1

o Watch Video Solution

3. Find the pricnipal solution of the

V3

trigonometric equation: sinz = — -

o Watch Video Solution



https://dl.doubtnut.com/l/_gE5WnJmbQIQ2
https://dl.doubtnut.com/l/_2gVH5gWaSQ9Y

4. Find the pricnipal solution of the

1
trigonometric equation: tanx = —

V3

o Watch Video Solution

5. Find the pricnipal solution of the

1
trigonometric equation: cot £ = —

V3

° Watch Video Solution



https://dl.doubtnut.com/l/_G9DhhG3Iz5pW
https://dl.doubtnut.com/l/_RZJuzj0UpijK

6. Find the pricnipal solution of the

trigonometric equation: cosecx = — 2

o Watch Video Solution

7. Find the pricnipal solution of the

trigonometric equation: tanz = — /3

o Watch Video Solution



https://dl.doubtnut.com/l/_8jrr1BO1w9ML
https://dl.doubtnut.com/l/_I53RGDHx9c9A

8. Find the pricnipal solution of the

trigonometric equation: secx = —

2
V3

o Watch Video Solution

9. Find the pricnipal solution of the

trigonometric equation: tanz = /3

o Watch Video Solution



https://dl.doubtnut.com/l/_aCQSqhdlYf01
https://dl.doubtnut.com/l/_35LKDVPDmfbN

10. Find the pricnipal solution of the

3
trigonometric equation: sinx = %

o Watch Video Solution

1. Find the pricnipal solution of the

1
trigonometric equation: tanx = — —

V3

o Watch Video Solution



https://dl.doubtnut.com/l/_YlTcs6kVZfIR
https://dl.doubtnut.com/l/_FFFUzH1Hd50h

12. Find the pricnipal solution of the

trigonometric equation: cos ecx = 2

o Watch Video Solution

13. Find the general solution of the

trigonometric equation : tan5x = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_jrqHvuYi7ijo
https://dl.doubtnut.com/l/_Loi5qE8v8iva

14. Find the general solution of the

trigonometric equation : sin3z = 0

o Watch Video Solution

15. Find the general solution of the

trigonometric equation : sin® 2z = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_MEjzO7DmBqEm
https://dl.doubtnut.com/l/_ZexuCosfmiut

16. Find the general solution of the

trigonometric equation : cot 4z = 0

o Watch Video Solution

17. Find the general solution of the

trigonometric equation : cos® 4z = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_uvNdHmnFs5dS
https://dl.doubtnut.com/l/_ot7vMRcwMMrI

18. Find the general solution of the

trigonometric equation : cot? 56 = 6

o Watch Video Solution

19. Find the general solution of the
V3

trigonometric equation : sinf = -

o Watch Video Solution



https://dl.doubtnut.com/l/_Arg6OrivBJgD
https://dl.doubtnut.com/l/_VGaYeYPgNPvi

20. Find the general solution of the

trigonometric equation: tan30 = — 1

o Watch Video Solution

21. Find the general solution of the

trigonometric equation : sec20 = — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_kQJ0uhYa91p8
https://dl.doubtnut.com/l/_LsjJj9EA5KSZ

22. Find the general solution of the
3

trigonometric equation: cos§ = — %

o Watch Video Solution

23. Find the general solution of the

trigonometric equation : cos 5z = — 7
2

o Watch Video Solution



https://dl.doubtnut.com/l/_IUKBPNBrKUay
https://dl.doubtnut.com/l/_L8MNHH34fUnp

24. Find the general solution of the

trigonometric equation : sin 3z = 7
2

o Watch Video Solution

25. Find the general solution of the

1

trigonometric equation : cos ¢ = 3

o Watch Video Solution



https://dl.doubtnut.com/l/_y2tS7oqdZI8R
https://dl.doubtnut.com/l/_eFvkg1FicfAb

26. Find the general solution of the

V3

trigonometric equation: sinx = — B

o Watch Video Solution

27. Solve the trigonometric equation

3cos’ 0 + Tsin’f = 4

o Watch Video Solution



https://dl.doubtnut.com/l/_4HZRKZftI2VJ
https://dl.doubtnut.com/l/_B0gBrWVnXzya

28. Solve the trigonometric equation

tanx + tan2x + tanx tan2x = 1

o Watch Video Solution

29. Solve the trigonometric equation

cos 4dx = cos 2x

o Watch Video Solution



https://dl.doubtnut.com/l/_Lol934iYaP08
https://dl.doubtnut.com/l/_BFDfLYGLDOVR

30. Solve the trigonometric equation

tanx + tan2x + tan3x = tanx tan2x tan 3z

o Watch Video Solution

31. Solve the trigonometric equation

sin3xz + cos2x = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_rSxuxKgEwW1H
https://dl.doubtnut.com/l/_hlpqUvnTFEtH

32. Solve the trigonometric equation

ta,n(% + 0) + tan(% — 9) =4

o Watch Video Solution

33. Solve the trigonometric equation

T
tan2x = — cot (a: + §>

o Watch Video Solution

34. Solve the equation : sinax + cosbx = 0



https://dl.doubtnut.com/l/_gjoKgbwWg9oW
https://dl.doubtnut.com/l/_pRFPI2Wnr4C7
https://dl.doubtnut.com/l/_HgC0bOx4pxr5

o Watch Video Solution

35. Solve the equation: tanz tan4z = 1

o Watch Video Solution

36. Solve the equation

cos O = sin 105" + cos 105"

o Watch Video Solution



https://dl.doubtnut.com/l/_HgC0bOx4pxr5
https://dl.doubtnut.com/l/_omib89RD0HHg
https://dl.doubtnut.com/l/_WaAjSljdjiqz

37.Solve the equation : tanx + cot z = 2

o Watch Video Solution

38. Solve the equation :tan® z + cot® z = 2

o Watch Video Solution

39. Solve the equation sec? 2z = 1 — tan 2z.

o Watch Video Solution



https://dl.doubtnut.com/l/_0pKOdB0N1rDv
https://dl.doubtnut.com/l/_M4zQVsTYek8r
https://dl.doubtnut.com/l/_fryCQQa0EsvU

40. Find the general solution of the

trigonometric equation: sin2x 4 cosx = 0

o Watch Video Solution

41. Find the general solution of the

trigonometric equation: tan’ z — 3tanz = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_HA1vHxAu0YnN
https://dl.doubtnut.com/l/_NPsS2pQdaKJY

42. Find the general solution of the

trigonometric equation: 2cos” z + 3sinz = 0

o Watch Video Solution

43. Find the general solution of the
trigonometric equation:

cos3dxr +cosx —2cosxz =0

o Watch Video Solution



https://dl.doubtnut.com/l/_rPRZNZ5q8yxg
https://dl.doubtnut.com/l/_VeWC9TdK2zfO

44. Find the general solution of the
trigonometric equation:

sin2x + sindx + sin6x = 0

o Watch Video Solution

45. Find the general solution of the
trigonometric equation:

sinx + sin3xz + sinbx = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_iRl85dnO3KKh
https://dl.doubtnut.com/l/_QvXhLpRuubja
https://dl.doubtnut.com/l/_k5XMASNEZYIQ

46. Find the general solution of the
trigonometric equation:

sin2x — sindx + sin6x = 0

o Watch Video Solution

47. Find the general solution of the
trigonometric equation:

cos3x +cosx — 2cosxz =0

o Watch Video Solution



https://dl.doubtnut.com/l/_k5XMASNEZYIQ
https://dl.doubtnut.com/l/_qoewcyCMoZ0r
https://dl.doubtnut.com/l/_l0GY8tg5QG71

48. Solve the trigonometric equation

V3cosz — sinz = 1

o Watch Video Solution

49. Solve the trigonometric equation

cos@ —sinf = — 1

o Watch Video Solution

50. Solve the trigonometric equation

cosx +sinx =1


https://dl.doubtnut.com/l/_l0GY8tg5QG71
https://dl.doubtnut.com/l/_MjmiUsjzn6Tx
https://dl.doubtnut.com/l/_8EoBkIey26I8

° Watch Video Solution

51. Solve the trigonometric equation

sect — tanx = /3

o Watch Video Solution

52. Solve the trigonometric equation

V2secz + tanz =1

° Watch Video Solution



https://dl.doubtnut.com/l/_8EoBkIey26I8
https://dl.doubtnut.com/l/_IagXNDMdeb2y
https://dl.doubtnut.com/l/_CQfi1DiSVv7n
https://dl.doubtnut.com/l/_STclxLQ8ZiDY

53. Solve the trigonometric equation

cot £ + cosecx = /3

o Watch Video Solution

54. Solve the trigonometric equation

1
SINX + CcCosSLr = —

V2

o Watch Video Solution



https://dl.doubtnut.com/l/_STclxLQ8ZiDY
https://dl.doubtnut.com/l/_pu6B8uRan55U

55. Solve the trigonometric equation

cos T + 4/3sinz = 1

o Watch Video Solution



https://dl.doubtnut.com/l/_A79hxTP9WTlH

